HBREBE—F LT 2RI RS

i IE]: 60 734k SrE: 100 4
. HESEE. (#8054
57+3= 16—7= 13-6 = 62+30 = 52-6+30=
70-7 = 90-50 = 23-6= 86-40 = 81-5-20 =
15-9= 6+56 = 50+34 = 24+8= 58+9+6 =
45 +50 = 33—5= 42 + 50 = 38+50= 9+949 =

—. HE, (FF 14y, Hae )

1. 69 HimE ¢ ) MR C ) A 9 R sMHEilkE ¢ ).
2. 53N A THWAE: ¢ D). C O C D,

3.50 Lt ( ) b1 b ( ) £1; 60128 % ( ); 67 bL 717> ( Do
KBNS R/ NOPMIEZ ¢ D. 599 MISMBIANELZE ¢ O M D
5.1 6= ( ) 3768 = ( ) 50 ffi = ( ) TG
678 HI 8/ ( O fulk, ox ¢ DA C Dy 77 C DAk, FRC DDA C D
7. /649 . 81 .94 .50 .19. 100 1, HEAH C D). ). ( ), REA C D,
CoOv (0 )e EESRMKRBEVNEIIGFEHES
8. I

(1) 49, 42, 35, ( )« ) ( )

(2) 24, 32. 40, ( ( ) ( )
am#m,ffﬁmﬁ+zmﬁTFﬁﬂ“¢z -

87—12 35+28

17453 I:l 84—5 I:l 72—14 I:l
0. x BB sk BB, . B o (> e
. 4

11 /N ZR /NI 12 MOIBEE S5, P NHBEE MR RE 2 sk /ANEL BN ( ) Mo
= fE73. 77, 72, 37. 7. 69, EHFESEMBUAEERE R, (B8 15, H£359)
A7 R 7 B LR 7 I Et 70 /NEI%L

SRS s, s, E, ERTRI
S T, DEEESREAE



OEme--- i3 NFIEEERTPES
R T, BRREESERR

M. ARt sE. G2 4y, 3t 16 70)

91 - 59= 48 +37 = 70 - 65= 6+ 88 =
67-19 = 73- 64= 80 - 50 = 56 + 30=
Ti. FOHME FE<, >Hi= . (@14, L4
6+28 O 60+28 44-8 O 44+8 52-2 O 52-5 33+7 O 7+33
NN R, (B 15, e
% 28 77 R 90 63
b % 27 9 40 W 78 47
il 85 7= 12 49
Y. fRYLSERR . G 18RS 1y, HARRE 45, 20
1. HE,
<] 65 4> 30 A& C Y 52 %
£ 47 > 15 A& 63 14 C )%
S| C )4 ( A 35 1 39 %

TG, EIER, SR THETE



OS8R RN FENERSES o
ST, AAREESHEAR

2. 89 MFEKRFASIMAE K. WEREEMNA KA, WK 45 LKA AGE?

oL =L >

3EFHR RGN — A 60 R, MH 25 X, wHEZHH?

oL =L >

4. “PREAE—OREE WIS 38 R, — LR E IR ?

Lol L

SEICH 48 NMERK, —EYUEE 18 1, TAERMEE 24 4. —HHEEZ DAY

oL =L >




OEme--- i3 NFIEEERTPES
R T, BRREESERR

60 9 7 92 76
63 40 17 46 56

6 62 84 32 73
95 28 92 88 27

—LHEA. (R 14y, Hae 4
1. 6 9 59
2. 70 71 72 BRAME—

Hi

3.51 49 32 4
4,89 98 100 5. 10 38 5

67 A 8 -  + 7 +

7HECH C 49 ). 081 ). (C 19 ), WA (94 ). 50 ). (100 ). 100 94 81
50 49 19

8. (1) 28 21 14 (2) 48 56 64

9.87—12 J[:] 84—5 {:]

10.2 3&Hi1 182

11. 24
=. 73 .77.72 77 37 7 37. 7. 69
Jg. 2sCHg 32 85 5 94 48 9 30 86
. < < > =
754

o # | 28 77 45 wogs | 90 63 96

i % 27 9 40 R 78 51 47

Pl 53 86 85 == 12 12 49

+. 1. 18 15 98 52 2. 45+45=90 () 3.60-25=35 () 4. 38+38=76 (}})

5.18+24=42 (™)






